n W ﬁ%@ tre brok, rekkefolge for operasjoner med parenteser

StudentName: ExamDate: ExamScore:
1 1 1 2 4
R — —— )2 =
S 373
(B3+3)+6= _(14_%):

63 3
3 13 1
1+=-)+3= —(=+=)=

( 2) 3 5(4 2

8 3 3 1
1+=)+4= -— = - =

(1+3) (z-%3
(1-1)=5= Tde L

56 2

www.snowmath.com


https://www.snowmath.com

n W ﬁ%@ tre brok, rekkefolge for operasjoner med parenteser

StudentName: ExamDate: ExamScore:
1 1 1 1 2 4 1
G837 & 3-372=03)

+3)=6=1 11 2 1

(3+3)+6 L

63 3 6

3 5 13 1 1

I+=-)+3=- —(=-+t=)=-

( 2) 3 6 5(4 2) 4
8 13 3 3 1 3
1+=)+4=— - — = - =(——

(I+3)+4=5 G337 3
1—1)=5= 11 1 2

56 2 15

www.snowmath.com


https://www.snowmath.com

